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Linear Algebra

Note: Show all of your work clearly in the supplied answer sheet.
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g 8 is a real 4x4 matrix. Find all possible real numbers of p for each case.
0

0
1. (10 pts.) The determinant of the matrix A is 1.

(10 pts.) The rank of the matrix A4 is 4.
(10 pts.) A is singular.
(10 pts.) {{1 00 0F,[0100],[001 07, [000 1]} is a basis for the column space of 4.

TRNFSEEV I

(10 pts.) “6” is one of A's eigenvalues.
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Differential Equations

:6 . (10%) Solve the following initial value problem:

dy
— = 0) =4.
7. (10%) Find the Laplace transform of the following function:

f(t) = {5€e""" + 3cos(2t) } % (t — )

8. (10%) Find the inverse Laplace transform of the following function:

1 e—2(s-1)
GG-2°2+9 " -1

F(s) =

9. (10%) Let A be defined as
3 -1
SIE
Solve the following initial value problem

X' = AX, X(O)z{é]

10. (10%) Find the Fourier series for f(z) =z, -2 <z < 2.






